Приложение № 2

Индивидуальные карточки учащихся

	
I вариант           Ф.И. учащегося_____________________________________________

Таблица 3

	A
	B
	C
	D
	E

	 
	
	
	
	



Таблица 4

	I вар
	Данные для вычислений
	Вычисления

	1959г.
	Город
	Население, тыс.чел
	Среднее арифметическое =

	1
	Коломна
	118
	Медиана =

	2
	Люберцы
	95
	

	3
	Мытищи
	99
	Размах =

	4
	Подольск
	129
	

	5
	Химки
	47
	Дисперсия =

	6
	Электросталь
	97
	



Оценка_________





	
II вариант          Ф.И. учащегося_____________________________________________

Таблица 3

	A
	B
	C
	D
	E

	 
	
	
	
	



Таблица 4

	II вар
	Данные для вычислений
	Вычисления

	1970г.
	Город
	Население, тыс.чел
	Среднее арифметическое =

	1
	Коломна
	136
	Медиана =

	2
	Люберцы
	139
	

	3
	Мытищи
	119
	Размах =

	4
	Подольск
	169
	

	5
	Химки
	85
	Дисперсия =

	6
	Электросталь
	123
	



Оценка_________


	

III вариант          Ф.И. учащегося_____________________________________________

Таблица 3

	A
	B
	C
	D
	E

	 
	
	
	
	



Таблица 4

	III вар
	Данные для вычислений
	Вычисления

	1981г.
	Город
	Население, тыс.чел
	Среднее арифметическое =

	1
	Коломна
	150
	Медиана =

	2
	Люберцы
	163
	

	3
	Мытищи
	145
	Размах =

	4
	Подольск
	205
	

	5
	Химки
	121
	Дисперсия =

	6
	Электросталь
	143
	





Оценка_________





	
IV вариант           Ф.И. учащегося_____________________________________________

Таблица 3

	A
	B
	C
	D
	E

	 
	
	
	
	



Таблица 4

	IV вар
	Данные для вычислений
	Вычисления

	2002г.
	Город
	Население, тыс.чел
	Среднее арифметическое =

	1
	Коломна
	147
	Медиана =

	2
	Люберцы
	163
	

	3
	Мытищи
	158
	Размах =

	4
	Подольск
	190
	

	5
	Химки
	136
	Дисперсия =

	6
	Электросталь
	146
	



Оценка_________
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